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Question Number : 1 Question Id : 5471144301 Display Question Number : Yes Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What type of diagram 1s known as non—dimensional diagrams
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Question Number : 2 Question Id : 5471144302 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

This average can be used to indicate the rate of change
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A measure of dispersion explains
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Question Number : 4 Question Id : 5471144304 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kurtosis 1s adjusted around which measure of central tendency
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Question Number : 5 Question Id : 5471144305 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Relationship between Q.D, M.D and S.D
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Question Number : 6 Question Id : 5471144306 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Out of all measures of dispersion, the earliest one to calculate is
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Quartile deviation
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Question Number : 7 Question Id : 5471144307 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mean deviation 1s minimum when deviations are taken from
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Question Number : 8 Question Id : 5471144308 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A comprehensive definition of tabulation 1s given by
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Question Number : 9 Question Id : 5471144309 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For the positive skewed distribution. Which of the following inequality holds
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Question Number : 10 Question Id : 5471144310 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 11 Question Id : 5471144311 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sample points in tossing 6 coins simultaneously
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Question Number : 12 Question Id : 5471144312 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Empirical definition of probability is due to
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Question Number : 13 Question Id : 5471144313 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Baye’s probability is known as  probability
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An unbiased coin 1s tossed four times. the probability that the number of heads exceeds
the number of trails is
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Moment Generating Function of F distribution
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Question Number : 16 Question Id : 5471144316 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X; and X> are independently and identically distributed random variables

X1 58050 Xaen $ggolore 5bchn eder Hodd Sahads

AreENE Seveden wond, P{lx; — x| >t} =

Options :
t.
p{lX;| > E}
1. %
2 E
2p{IX;| = E}
2.¢

2p{IXy[>2t}

p{IXy >t}

Question Number : 17 Question Id : 5471144317 Display Question Number : Yes Is Question Mandatory : No Calculator :
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For a continuous random variable non-Zero probabilities are associated only with
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Question Number : 18 Question Id : 5471144318 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The joint probability density function of (X. y) 1s f{X, y)=2. 0<x<1, 0 <y<x. Then the
marginal distribution of y 1s
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Question Number : 19 Question Id : 5471144319 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X is a binomial variate with its mean y=4 and third movement u, = 4.8. the value of
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Question Number : 20 Question Id : 5471144320 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A limiting case of negative binomial is this distribution
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Question Number : 21 Question Id : 5471144321 Display Question Number : Yes Is Question Mandatory : No Calculator :
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Mode of the binomial distribution with mean 5 and variance 5 is
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Question Number : 22 Question Id : 5471144322 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Distribution in which mean is always greater than its variance is
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Question Number : 23 Question Id : 5471144323 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



student’s t-distribution was given by
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Question Number : 24 Question Id : 5471144324 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If Z 1s a standard normal variate P(-1<- Z < 1)=
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Question Number : 25 Question Id : 5471144325 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Family of parametric distribution for which moment generating function does not exist
SrBSPE S (HDaHEn a8 8D oo ddcdh Dgredo Henowo
Options :
t-distribution

- -Qgrado
1.V

Binomial distribution

E}éﬁé aETPEI00

Poisson Distribution

SPanas Jeredo

Negative Binomial Distribution

ames'ﬁééé G080 dgrezdo

Question Number : 26 Question Id : 5471144326 Display Question Number : Yes Is Question Mandatory : No Calculator :
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The m.g.f. of gamuma distribution is
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Question Number : 27 Question Id : 5471144327 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bias of an estimator
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Question Number : 28 Question Id : 5471144328 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

M.G.F for rectangular distribution
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Question Number : 29 Question Id : 5471144329 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The cumulative distribution function F(x, y) lies between  and
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F distribution was invented by
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Question Number : 31 Question Id : 5471144331 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the case of repeated ranks. the correction factor used in the spearman’s formula is
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Question Number : 32 Question Id : 5471144332 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mequality for the lower bound of the variance of an estimator which 1s not based on
stringent regularly conditions was given by
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Question Number : 33 Question Id : 5471144333 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The two lines of regression are parallel to the axes in this case
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Question Number : 34 Question Id : 5471144334 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

With three attributes A.B and C. the number of first classes is
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Question Number : 35 Question Id : 5471144335 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Coefficient of contingency is a measure of
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Question Number : 36 Question Id : 5471144336 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term dirty data implies
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Question Number : 37 Question Id : 5471144337 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Coefficient of mean square contingency is
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Question Number : 38 Question Id : 5471144338 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The distribution of the sum of squares of independent standard variates is this
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Question Number : 39 Question Id : 5471144339 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of independent variates is called
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Question Number : 40 Question Id : 5471144340 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mean of F(4.4) is
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Question Number : 41 Question Id : 5471144341 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Regression coefficient is independent of
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Question Number : 42 Question Id : 5471144342 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The combination AB of attributes 1s known as the class of order
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Question Number : 43 Question Id : 5471144343 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correlation lies between
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Question Number : 44 Question Id : 5471144344 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X and Y are two variates, there can be at most regression line
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Question Number : 45 Question Id : 5471144345 Display Question Number : Yes Is Question Mandatory : No Calculator :
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if the regression coefficient Bxy<= 1 then Byx must be
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Question Number : 46 Question Id : 5471144346 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If all A’s are B’s, then the coefficient of association Q is equal to
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Question Number : 47 Question Id : 5471144347 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X1, Xo..... Xn is random sample from N (u, 6%)the sufficient statistic for y is
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The property that the likelihood equation has one and only one consistent solution is due
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Question Number : 49 Question Id : 5471144349 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The m.1. estimate in the case of these variables is the same as the least square estimate
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Question Number : 50 Question Id : 5471144350 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Power of the test 1s
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Question Number : 51 Question Id : 5471144351 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A coin is tossed 900 times and heads appear 490 times. To test whether the coin is
unbiased, Ho 1s
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Question Number : 52 Question Id : 5471144352 Display Question Number : Yes Is Question Mandatory : No Calculator :
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if n units are selected i sample from N population units, the sampling fraction is given
as
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magnitude of the standard error of an estimate is an index of its
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Question Number : 54 Question Id : 5471144354 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The probability of getting at least 1 1n a single throw of three dices
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A box contains 3 white and 3 black balls. 2 balls are drawn . the expected number of
white balls drawn is
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The standardised geometric variable, in the usual notation 1s
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Question Number : 57 Question Id : 5471144357 Display Question Number : Yes Is Question Mandatory : No Calculator :
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Two attributes A and B are positively associated if
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Students t-test was invented by
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Most of the non-parametric methods utilize measurements on

@508 ©HT LD SGoen K Foden GDAPATD

Options :
Interval scale

(Dlerrleley fo&w
1. %

Ratio scale

8 _EEJ&_P_}J
2. %

Ordinal scale

BEeSns en
3.

Nominal scale

TenBS 'cso&w
4. %

Question Number : 60 Question Id : 5471144360 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

This test 1s always a one-tailed test for a given level of significance
SYS FoETTa & HOF Jrpir DE-FD O,
Options :
Kolmogorov —Smirnov
P SAES R0
1.¥
Run
o35



Sign

BB
3. %

Mamn-Whitney
i &5-&'3&53‘

Question Number : 61 Question Id : 5471144361 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the usual notation, the standard deviation of sign test statistic

Sredioren JoSered® S HOF FroggBan @nY) BEHDSeDHw.

Options :
2n
1. &
n
2. %
n
2
3. %
vn
2
4.

Question Number : 62 Question Id : 5471144362 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum height of the normal curve is
Ferde S8 Ty @n¥) K68 Ik
Options :
Mean
e
1.
Standard division

B DSessm



Correlation coefficient

REP Do0y Moreso

Variance

03 8

Question Number : 63 Question Id : 5471144363 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Binomial distribution has parameters
B Dgrardo Foendhedy B0A dotnob.

Options :
0

2

3.¢

fad

Question Number : 64 Question Id : 5471144364 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Family of parametric distributions. for which mean and variance does not exist
ST Dgrade Hinono, a8E° B St Db IF B B8
Options :
Poly’s distribution

Poly’s Sgresidsin

l. &

Cauchy distribution

Cauchy Qeresdo



Negative binomial distribution

(BD8Ere G308 dgredo

Normal distribution

Frdes Derado

Question Number : 65 Question Id : 5471144365 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

P(X>Y)=1 implies that E(X) E(Y)
P(X>Y)=1 & 33 E(X) E(Y)
Options :
Ly
2%
Not equal to
Q&mo st
3. %
Equal to
SIS TS
4. %

Question Number : 66 Question Id : 5471144366 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of asymptotic relative efficiency was given by
508 $)Pok @fﬁzg ﬁvéﬁgéaﬁw ©on gP5% ®ohoddTd

Options :

Jean Gibbons

25 P:aa}%n}

l. &



E.J.G. Pitman

E.1.G. 2855598
2.¥
A M.Mood
A M. Sor&
3. %

F. Wilcoxon

F. DSB8

Question Number : 67 Question Id : 5471144367 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sampling in which values are 1.1.d with the same variance is

Denden o8 DY 8BS $y0.0 w0l FoRoR

Options :
SRSWOR
5. a8, 3°0.86A FHR
1. %
Conditional sampling
DoHeE BroHoh
2. %
SRSWR
3. 0. 700, BBA TN
3.¢
Judgment sampling
85y zogoh
4. %

Question Number : 68 Question Id : 5471144368 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Systematic sampling means
(Boimions (D88 (e X

Options :



Selection of n units situated at equal distances

BEFS BrSEwed® &) n ShHe 2E8H

1.V
Selection of n contiguous units
n ©5%) ShPe DEde

2. %
Selection of n largest units
n 568 SHe Ee

3. %
Selection of n middle units in a sequence
n &gy SpPeD a8 L%a%é’s 2E8e

4. %

Question Number : 69 Question Id : 5471144369 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Under proportional allocation, the size of the sample from even stratum depends on

whard BeranoPs® [H8K0E5N Hod (KHirod B [H88rD Hbirno Bob IR
BEEH .
Options :

Total sample size

S0E0o (D8EFD HbSTezsw

Size of the stratum

508 B65FED
2.

Population size

ﬁéﬁ:%& 58830

All Options

o,



Question Number : 70 Question Id : 5471144370 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Degree of freedom for Chi square table of order (4X3) are

(4X3) [Eayg $G8H Chi square ) G &lfien

Options :

12
1. %

8
2. %

9
3. %

6
4.

Question Number : 71 Question Id : 5471144371 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For the given five values 19,24,26,37,63 the 3 yearly moving averages are

BINS 0 Jenden 19, 24, 26, 37, 63 &%%0 3 ﬁo:’aé{:}@e_} SR Hifénen

Options :

23

)

, 9.42
1.

2
)
(e
o
e
b

2. %

22.29.40
3. %

25,28,42
4. %

Question Number : 72 Question Id : 5471144372 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Simple average method is used to calculate

FPordes Sttt DEE B88)0SeeR8 GODrHND BE8.

Options :



Trend values

(298 Devwen

1. %
Seasonal variations
2008 HgEERHR0eN

2.¢
Cyclic Variations
SEch Sgerssom

3. %

Irrigular
BEsoore 82
4. %

Question Number : 73 Question Id : 5471144373 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Most preferred type of average for index number 1s
S Sogy 565 wdod (@R Sritn 8%
Options :
Arithmetic mean

WOBRBS Drén

1. &
Geometric mean
 Bgriieds Hisen
2.
Harmonic mean
S e
3.%
Variance
958
4. %

Question Number : 74 Question Id : 5471144374 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The range of homogeneity error in reference to index number is

S8 Soggh Somofod Serdahd &'Ho @) $66

Options :

Otol
1.v

0to oo
2. %

-l1to1l
3. %

-o0 {o +o0
4. %

Question Number : 75 Question Id : 5471144375 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The empirical relationship between plot size and plot variance is obtained by

P HBBreastn HHBAD PN DG )8 gy ©oerdE BowoFKnt FaTeS) U“EJ%&

Options :
Fisher
V6]

fair field smith

36 beo 25

‘ e
2.¢
Federer
2R86
3. %
Bhattacharya
PETTS
4. %

Question Number : 76 Question Id : 5471144376 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Salient factors responsible for seasonal variation are
anddonod aﬁoﬁia}éa’méén (35508 S°Beag0R
Options :

Weather

PTIOE0
1. %

Social customs

Fodns esorddnen
2. %

Festivals

SotHiien
3. %

All Options
4.¥ o

Question Number : 77 Question Id : 5471144377 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The index numbers calculated after taking the preceding year as base year are called
B00tH 2BAD HoDHEBHND SErS HodE BH HE e TS HrdE Soged sor
DeoRSw.

Options :

Value index

Dend Hordd
1. %
Splicing
)Rk
2. %

Link relatives

908 Fraseen
3. ¢ L



Quantity
H0Sreasin KBoedE

Question Number : 78 Question Id : 5471144378 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If w is chosen as smoothing coefficient in exponential smoothing method of forecasting,
then the factor 1s:

T8 é:ﬁjcﬁaéﬁ‘g Eﬁn’g@ oo Lo IoHEd8 w D BSJQQSJQES Hogorr dohods,

@éﬂ)ﬁﬁi} Sele I TRy

Options :
w
1+w

Question Number : 79 Question Id : 5471144379 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In case of multiplicative model, the sum of seasonal indices is
Heesel SHarar DRAHoE®, srerdhirbe Krdse Iwdo
Options :
100 times the number of seasons

20080a)e éoa}één 100 Bén
1.



1000 times the number of seasons

ZAN T WIow) () éoa:\ééa 1000 Béx

10 tumes the number of seasons

20 éoazéén 10 Béw

10000 times the number of seasons

200D ﬁoapegéa 10000 Béx

4 %

Question Number : 80 Question Id : 5471144380 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the main aspects of business forecasting is
TgErS @O @) Berd wored® e s
Options :
Government polices

(2980 Dpraren

1. %
Taxation
Ay DfoBEo

2. %
Historical analysis
00|88 D3Kes

3.9
Maximum profit
giers} ergo

4. %

Question Number : 81 Question Id : 5471144381 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

N.5.5.0 means
N.S.5.0 08

Options :



National Sample Survey Office

8D (HBErD $Ow B0
Q

Lv
National Small Savings Office
eBah i) Dozee Do
2. % = &
National Small survey Office

3 edah DF) $Vge Ko

LB
National Standard Sample Office
8D (Hres (HBEFD KT Vo

4. %

Question Number : 82 Question Id : 5471144382 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Missing observation in a completely randomized design is to be

KoY S S336° S°odE Dend GokerY)
Options :
Estimated
wodwe Schadod

Deleted
SohoSalod

Guessed

&adrodalod

Calculated using formulae

RE@red eOdrhod) B8odathdod



Question Number : 83 Question Id : 5471144383 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Base period for an index number should be
So0d) ﬁoaaééa el ook asﬂt:]éorw Lol RN
Options :
a year only

&8 HosSBo Sr(Eh

1. %
a normal period
- >prdee SPe0
2.¢
a period at distant past
ErS sfe0
3. %
a 2 year period
2 Jodéore 5°00
4. %

Question Number : 84 Question Id : 5471144384 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a randomized block design with 4 block and 5 treatments having one messing value,
error degrees of freedom will be

28 Dend E°H0DS ASre)INE Pois Bu5E® 4 porren DO 5 D8 tod), &%

TRB0(@osTen o8 GO,

Options :
12

11

10



Question Number : 85 Question Id : 5471144385 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Formula for coefficient of variation is

DBTEoERN @) @
Options :

X 100
mean

(5.D /%ken) X 100

1.
mean il
X
S.D.
(s / §.D.) X100
2. %
S.D X mean
100
(SD X $1e»n)/100
3. %
100
S5.D X mean
100/ (RKe» X SD)
4. %

Question Number : 86 Question Id : 5471144386 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The child bearing age in India is years

88 BFos® HEH 83 Sahsy) HoHEyoren

Options :



20-29

2. %

15-49
3¢

13-48
4. %

Question Number : 87 Question Id : 5471144387 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The vital index for population growth was propounded by
agr DEHEeD oD ErdE B8FB0S a8od

Options :
B.Benjmin

2. BoRiwS
1. %
G.barcley
Re2 @r@%
2. %
A Newbolmes
&), 26505255@&5
3%
Rayond Pearl
Bsrol DG
4.

Question Number : 88 Question Id : 5471144388 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The contrast representing the quadratic effect among four treatment is :
v e A
Feih D8Sed® SEtyes (Derard KeDod e[
Options :

T-2T2+T3+T4



-TI+3T2+3T3+4+T4

2. %

T1-T2 -T3+T4
3.¢

2T1-T2-T3+2T4
4. %

Question Number : 89 Question Id : 5471144389 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

el =
Options :

Tx

Ly
1. ¢

Tx . Lx
2. %

e:x SRR
3. %

Lxs1

L
4. %

Question Number : 90 Question Id : 5471144390 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A modified form of specific fertility is
A3 Koz H)B G $HB0DS Erdo
Options :
G.R.R.

5°.5.8
1. % @



TFR.
30.2.3

N.R.R.

GFER.
. 3.5

Question Number : 91 Question Id : 5471144391 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An exceptional demand curve which instead of sloping downwards raise upwards is
propounded by
o8 T &drotd SES Bohd oren athen™ 28 BIHII @'33-‘533@26 5.

Options :
Marshall
mqﬁ

1. %

Engel
DeBS

2. %

Pareto
et

3. %

Giffen

4.« ﬁq}ﬁ

Question Number : 92 Question Id : 5471144392 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A systematic sample has the same precision as the corresponding stratified sample with
one unit per stratum if

20 oowd a8 Barhnid (H85rsin Y08 el chrdiE wrbadnr ¢ol KO8 (H85r
5 BBEED EOA Gotnod.

Options :

Pwst = 0
Pwst = 1

Pwst = 0
3.

Pwst = 0

Question Number : 93 Question Id : 5471144393 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the sample observations are not completely independent we use this test

(B85 Denden FroT DrBol@sn RS S0 & H0F SdTrRosEw

Options :

Question Number : 94 Question Id : 5471144394 Display Question Number : Yes Is Question Mandatory : No Calculator :
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The probility of living of a person in the group x to (x +n) can be obtained by the
formula:

X 2o& (X + 1) D00y Ko &8 £203 DogregEi & Srl@o ogoe SPolHD).

Options :
Exi—n
L,
1.
(‘Ix __ Ix+n)
Ly
2. %
(L — i)
Ix+n
3. %
Ly
Ix+nx
4. %

Question Number : 95 Question Id : 5471144395 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the origin in trend equation 1s shifted forward by three years, X in the equation
Y =a + bX will be replaced by
(558 $EBeLnE™D Hrerd) S SodEiores Swokhs drdseond, Y =a+bX

3088 esnS aee o“)ytﬁtjéﬁah}.

Options :



w >

Question Number : 96 Question Id : 5471144396 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a constant 50 is subtracted from each of the value of X and Y. regression coefficient
is
X &80 Y Go¥) (58 Dend ol 85wore 50 8RR, (©8HDS Hesossin
Options :
reduced by 50

50 &hod
0

1. &

1/50" of the original regression coefficient

@B (HBRSS erossne® 1/508 HSok

2. %
increased by 50
50 2>6A0H

3.
Not changed
Setala

4.

Question Number : 97 Question Id : 5471144397 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

There can be only types of errors in taking a decision about Hy,

Ho 19800 dgcho 8:o8'SKod®  Swred® &'aren Srm@dh sold).
Options :
0
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Question Number : 98 Question Id : 5471144398 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X1 and x; are independent random variables. then. in the usual notation. @, _, () =?

X1 808000 X; e OB0(ES cﬁﬁ:vcie}%é SeTrden @ond, ONPE AoraTren Josmedt, |

axl —Xa2 (t) = ?
Options :

ijl (t) B ®x2 (t)

1. &
B, (1)
Do, (1)
2.¢
Do, (1)
ijz (_t)
3. %
ijl (_t)
mx; (_t)
4. %

Question Number : 99 Question Id : 5471144399 Display Question Number : Yes Is Question Mandatory : No Calculator :
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In the usual notation, the standard deviation of sign test statistic

Srdren $oSzrod® DS HOgr PoggEsn GnE) BHDBedEw.

Options :

n
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Question Number : 100 Question Id : 5471144400 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If an event B has occurred and it 1s known that P(B)=1. the conditional Probability
P(A/B) 1s equal to
2.8 P06 B $085Q008e008 oo P(B)=1 @ 302559, dHes®

EriR Sogrdyd P(A/B) $8e85hrhesh

Options :

p(A)
1.¥

p(B)
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.58

Zero
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